

## Doubles Minus One

**1. Use doubles minus one to find the answer. Fill in the blanks.**

$3 + 2 = \underline{\quad} + \underline{\quad} - \underline{\quad} =$

$4 + 3 = \underline{\quad} + \underline{\quad} - \underline{\quad} =$

$5 + 4 = \underline{\quad} + \underline{\quad} - \underline{\quad} =$

$6 + 5 = \underline{\quad} + \underline{\quad} - \underline{\quad} =$

$7 + 6 = \underline{\quad} + \underline{\quad} - \underline{\quad} =$

$8 + 7 = \underline{\quad} + \underline{\quad} - \underline{\quad} =$

$9 + 8 = \underline{\quad} + \underline{\quad} - \underline{\quad} =$

$10 + 9 = \underline{\quad} + \underline{\quad} - \underline{\quad} =$

**2. Use doubles minus one to find the answer. Write the number sentence.**

$5 + 4 = \underline{\hspace{2cm}}$

$6 + 5 = \underline{\hspace{2cm}}$

$3 + 2 = \underline{\hspace{2cm}}$

$4 + 3 = \underline{\hspace{2cm}}$

$9 + 8 = \underline{\hspace{2cm}}$

$10 + 9 = \underline{\hspace{2cm}}$

$7 + 6 = \underline{\hspace{2cm}}$

$8 + 7 = \underline{\hspace{2cm}}$